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Step 3 : g is Bad - measurable
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Two particular Cases :

countable set

a) X is a discrete rt
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Terminology
• If E ( IN ) Cees

,
we say that X is integrable .

.If F- ( X
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we say that X is square - integrable .
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we say that X is banded
.
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we say that X is centered
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we say that X is symmetrically distributed
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Implications :
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Proofs :
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Basic properties
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Variance and covariance ( I independence )

Def : Let X
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Characteristic function ( or Farrier transform )

Def The characteristic function of a random variable X

is the mapping ¢× : R → Q defined as
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Properties :

( i ) 01×6 ) =L

( ii ) ¢× is continuous on R

Ciii ) ¢× is positive semi - definite on R
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Inversion formula :

. To a given characteristic function ¢× Corresponds

a unique Cdf Fx given by :
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Relation between Fx & ¢× :
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,
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Factorization property :
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